AR EE S

SM2F 3R/ 3 1HRE

H<HWY—ERBEXE (Ef 0 FFH)
g E 0 B g8 F o
¥ B & % # B & #
[REh & E] 251,476 = [REh&afs] 141,913
1.1R% - &8s 71,971 | 1. FIEE 106,011
17} & 8,888 g # 2 106,011
R EE 57,654
R#sES 5,429 2 MEE 16,094
FIEARZE 3,283
2 ZEHNE 110,388 B Y % 44
= B 2 117,766 kR = £ 1,698
EEEE A\ 7,378 RIE Gumm) 11,069
3 MG 66,625 = 3.7DfEE 19,808
J& & 37,778 53 4% 7,775
fa om BT 25,147 *iLEH 12,033
Bt & — 831
BEY LR — 2,869 (EE&&)] 161,822
4 REBEASE 150,000
4 MEE 838 MEEAE 150,000
* I % 0
Z DB 15 5.5 4% 11,822
ENRIS 823 ERiR 53 4% 11,822
5 S RBEE 1654 BEOEH & &t 303,735
F UN X # 747 M B E O EB
BT th & A 907 [REEX] 338,849
1.855% 100,000
(EE&E] 391,108 E K % 100,000
6 .EE & 390,399
BT A 640,771 2 MR RS 225,000
BUHEEREE | A 253,402 MR HEHS 225,000
EREEEE 3,030
3.85% 13,849
7 SN ERHE 709 FAF S 13,849
A E & 709
HEEDE & &t 338,849
BEDOE & &t 642,584 BE-MEE & F 642,584




